STYKLISTE

Side 1
MODEL 6343D
Pos. Art.nr. Betegnelse Stk.  Note
001 183032-3 HUS (SET) 6343DW 1
INC. 20,21

002 859863-9 TYPESKILT
003 266130-9 BLIKSKRUE PT 3X16
004  344391-2 BIT-HOLDER (6213DW)

005 654168-0 KONTAKTFJEDER (6213DW)
006 654169-8 KONTAKTFJEDER (6213DW)
007 687085-9 KONTAKTPLADE (6213 DW)
008 651968-9 AFBRYDER ELEKTRONISK
009 416079-5 SKIFTEPAL H/V (6213DW)

010 125091-1 GEARVALGER

011 251465-1 SKRUE M6X32

012  192956-2 SELVSP. BOREPATRON 13mm
013  125105-6 GEAR KOMPLET

014  629729-5 DC MOTOR

= a4 a4 a4 a|a g g g gl oo =

INC. 16,17
015 911006-2  KOMBI-SKRUE
016 191971-3  KULSAT CB-430
017 643954-4  KAPPE###(643929-3) (8443D)
018 266134-1  BLIKSKRUE ST M4x8

019  265999-8 SKRUE M4X25###(266374-1)
020 183032-3 HUS (SET) 6343DW

INC. 1,21
021  819063-3 MAKITA KLAEBEMARKE
AO1  122576-8 DYBDEANSLAG

NI I O

AO2 824525-8 TRANSPORTKUFFERT###(824626-2)
A03  414938-7 AKKUKAPPE .
A04 784637-8 +/- BITS (10)
A05 122575-0 SIDEGREB KOMPLET
INC. A06-A09

AN 2 2 o

AO6 251812-6 SKRUE M5x10

A07 416680-6 HOLDER F/GREB

A08 921919-9 SKRUE M8x110

A09 931202-6 6KANT-MJTRIK M5 (HR2410)
A10 e

—_ = A

EO1  414938-7 AKKUKAPPE .

E02 192827-3 AKKU 1822 18V / 2,0Ah

E04 193061-8 NI-MH AKKU 1835 18V - 3,0AH
E07 193102-0 NI-MH AKKU 1834 18V - 2,6AH

_ A A




EKSPLOSIONSTEGNING

1

Side

MODEL 6343D




